
Cascade Talon Pads
Replaceable, Segmented Pallet Wear Pads
Cascade’s easily replaceable pallet pads provide secure handling and  

reduced maintenance when using a carton clamp in pallet applications. 

Segmented pad sections can be 
individually replaced by removing 
just one retainer bar.

LESS
MAINTENANCE

SECURE
LOAD HANDLING

MORE RUNTIME

EASILY
REPLACEABLE

(FULL VIEW)

      P ENDIN

G

   
PE

NDING

Large, harder rubber faced pad 
segments offer a secure grip on 
the load.

Flexibility to rotate or reposition 
pad segments to get full life.

High strength steel lower frame 
and retainer bars for greater  

durability.

Durable rubber faced  
aluminum upper pads.

LONGER LIFE

talon
padsPADPAD

Replaceable PALLET PADS
REPLACEABLE PALLET PADS

replaceable pallet pads



Cascade Corporation • PO Box 20187 • Portland, OR 97294-0187 • USA • 800 CASCADE (227.2233) • Tel 503.669.6257 • Fax 800.693.3768 • Fax 503.669.6367
Cascade Canada Ltd. • 5570 Timberlea Blvd. • Mississauga, Ontario L4W 4M6 • Canada • 800.380.2272 • Tel 905.629.7777 • Fax 905.629.7785

Form #6905457 6/18Cascade is a registered trademark of Cascade Corporation. 
© Cascade Corporation 2018. All rights reserved.

For 40" (1020 mm) pad length, order assembly package #6907684.  
Package includes all parts listed below.
# Qty Part Number Description
1 1 6907683 Plate
2 2 6900080 End Bar
3 2 6907681 Retainer Bar
4 4 6405876 Capscrew M8X1.25 L12
5 6 6405877 Capscrew M8X1.25 L14
6 1 6907682 Retainer Bar
7 4 6900082 Center Wear Strip Pad

For 42" (1070 mm) pad length, order assembly package #6908263.
Package includes all parts listed below.
# Qty Part Number Description
1 1 6908262 Plate
2 2 6900080 End Bar
3 2 6907400 Retainer Bar
4 4 6405876 Capscrew M8X1.25 L12
5 6 6405877 Capscrew M8X1.25 L14
6 1 6907682 Retainer Bar
7 2 6900082 End Wear Strip Pad
8 2 6908261 Center Wear Strip Pad

For 48" (1220 mm) pad length, order assembly package #6900083
Package includes all parts listed below.

# Qty Part Number Description
1 1 6900078 Plate
2 5 6900082 Center Wear Strip Pad
3 2 6900080 End Bar
4 2 6907400 Retainer Bar
5 4 6405876 Capscrew M8X1.25 L12
6 8 6405877 Capscrew M8X1.25 L14
7 2 6900084 Retainer Bar

For 52" (1320 mm) pad length, order assembly package #6908313
Package includes all parts listed below.

# Qty Part Number Description
1 1 6908312 Plate
2 2 6900080 End Bar
3 2 6908310 Retainer Bar
4 4 6405876 Capscrew M8X1.25 L12
5 8 6405877 Capscrew M8X1.25 L14
6 2 6908309 Retainer Bar
7 2 6900082 End Wear Strip Pad
8 3 6908261 Center Wear Strip Pad

For 54" (1370 mm) pad length, order assembly package #6908272
Package includes all parts listed below.
# Qty Part Number Description
1 1 6908271 Plate
2 2 6900080 End Bar
3 2 6908582 Retainer Bar
4 4 6405876 Capscrew M8X1.25 L12
5 8 6405877 Capscrew M8X1.25 L14
6 2 6908583 Retainer Bar
7 3 6908261 Center Wear Strip Pad
8 2 6900082 End Wear Strip Pad

For 60" (1520 mm) pad length, order assembly package #6908290
Package includes all parts listed below.
# Qty Part Number Description
1 1 6908289 Plate
2 2 6908270 End Bar
3 2 6907681 Retainer Bar
4 4 6405876 Capscrew M8X1.25 L12
5 10 6405877 Capscrew M8X1.25 L14
6 3 6907682 Retainer Bar
7 2 6908261 End Wear Strip Pad
8 4 6900082 Center Wear Strip Pad

1

4

2

3

7

6
5

1

4

2

3

7

8
6

6
5

6

5

65

5

1

7 3

4 6

5

2

1

4

2

7

38

1

4

3

2

7

8

1

4

2

3

8

7

Cascade Talon Pads – Assembly Packages 
Select your pad length from the options below then order your corresponding package number.


